KANGOUROU MATHEMATICS COMPETITION 2023-2024 LEVEL / ENMINEAO 3-4

1. Which square is cut into 2 different shapes?
Molo TeTpaywvo ival polpacpévo o 2 SLapopeTIKA OXHATA;

o e T

2. What is the smallest number of ladders the firefighter must use to reach the fire A
without jumping? A
Molog elval o IKPOTEPOC apLlOOG amd OKAAEG WOTE 0 TIUPOCPECTNG va UImopetl b['? é] [/;J
va ptaoel oTn dWTLA XwPLg va mndntey; :

iy 4
b

(A) 4 (B)5 (ne (4)7 (E)8 ,é? /J[f? [ﬁfq

3. The table consists of 28 white cells:
Ira paints 2 rows and 1 column. A row is from left to right.
A column is from top to bottom. How many cells will remain white?

O mivakag amoteleital amd 28 Aeukd KeALd.

H'Hpa xpwpartilel 2 oslpég kot 1 otAAn. Mia ypappn apxilel ano aplotepd
npog SelLa.

Mia otiAn apxilel amd mavw mpog KATw. MNooa KeALD TOPAUEVOUV AEUKQ,;

(A) 8 (B) 10 (r) 12 (A) 14 (E) 17

4. Soccer players numbered 1 to 11 stand in a circle. Each player kicks the ball to
the third player on their left. Player 1 starts.
This kicking pattern continues until a player has the ball for the second time.
What is the number of the player who kicked the ball last?

MNodoodalploteg aplBunpévol amo to 1 péxpt to 11 otékovral o KUKAo. KaBe
TalXTNG KAWTOAEL TNV UMAAA oToV TPiTo Ttaiytn ano aplotepd tou. O maiytng
1 apyilel.

To potipo ouveyilel péxpL mou £vag maiyxtng £XeL TNV UndAa yla SeUTtepn
¢dopa. MNolog ivat o aplBuodG Tou maiyTn mMou KAWTCNOE TNV UIMAAa
televtaiog;

(A) 7 (B) 8 (r o9 (A) 10 (E) 11
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5. Mario wrote 3 consecutive 4-digit numbers in a row. His sister erased some digits.
What are the missing digits (from left to right)?
(For example, 213, 214, 215 are 3 consecutive 3-digit numbers.)

O Maplog éypae 3 dtadoxikol¢ 4-Prdloug aplBuoug otn oslpd. H adepdr tou £éoBnoe kamowa Pnodia.

Mowa Pndia Aetiouv (amod aplotepd npog Se€1a);
(Ma mapadeyua, 213, 214, 215 eival 3 Stadoxwkol 3-Prdlot aptbuot.)

__7,898,48__

(A) 389, 3,99 (B) 489,3,96 (I)489,4,98 (A)489,4,99 (E)488,4,99

6. Lizzy pays 7 euros for 3 items. The cost of each item is different and is a whole number.
How much is the most expensive item?
H Aouila mAnpwvel 7 eupw yLa 3 aviikeipeva. To KOOTOC KAOE avtikelévou eival SladopeTIko Kal eivat
OKEPALOG OpLlBUOC. Moo KooTilel TO Lo akpLBO aVTIKELUEVO;

(A) 2 euro/eupw (B) 3 euro/supw (F) 4 euro/eupw (A) 5 euro/supw (E) 6 euro/eupw

7. Acat knocks off 1 block from Filip’s construction.
What could this construction have looked like before the block was knocked off?

Mia yata ompwyvel 1 KOUTAKL ard TNV Kataokeur tou QiAutmou.
Motag popdng NTav N KATAoKeu TPV adalpeOel To KOUTAKL; @

(A) (B)
() g E (E) ﬁ

(r)
8. Alex has a Kangaroo poster on the kitchen wall.
How many grey tiles are there behind the poster?
O ANEENG €xel pia adloa Kaykoupd otov Toixo tng koulivoc.
Méoa ykpL MAaKAKLO UTTAPXOULV Tiiow amo tv adioa;
(A) 15 (B) 21 (r)25 (4) 30 (E) 35 R Sl
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9. Antonia and Lucian toss a coin. If the child sees the purple side, the child advances 3 steps.
If the child sees the green side, the child goes back 1 step or stays at the starting position. Both started in front
of number 1 and each tossed the coin 4 times. Antonia advanced to number 4 and Lucian advanced to number
8. How many times in total did they see the green side of the coin?

H Avtwvia kot o AoukLavog eTouy éva voplopa. Eav to matdi 6t tn pwp mAeupq, To aldi mpoxwpd 3 Bruara.
Eav to matdi et tnv mpaaotvn Asupad, To maldi mnyaivetl 1 Bripa miow A mapapével oTnv apxkn B€on. Kat ot
600 Eekivnoav unpootd and tov aplBpod 1 kat o kabévag nétate to kEppa 4 popes. H Avtwvia mpoxwpnoe oto
vOUEPO 4 Kal 0 AouKLavOg aTo vouuepo 8. Mdoeg dopEg cuVoAka idav Thv MpAcLvn MAEVPA TOU VOUIOUATOC;

(1]2]3][a[5]6[7[8]9 [10] [12]

(A)1 (B) 2 (rn3 (8) 4 (E)5
\\-
10. There are five different kinds of fruit in a bowl: 3 .....
. A
Ann likes -:::::-

o!
Tele

Bill likes ".b'f ’)
Chris likes E{.:@ )
Dimitris likes %}-)

Eli likes }, §

Everyone gets a fruit they like. Everyone gets a different kind of fruit. What does Bill get?

Yriapyouv mévte SladopeTikd eidn dpouTtwy oe pia kouTma: ‘ 3 2 )
'o'o'
o

Tng Avvag apéoel .::S::.
).
Tou BaoiAn apéoouv ‘ 2’ .g'. @ )
b
Tou Xpiotou apéoouv g @ )
Tou Anuntpn apéoouv 3!.,. )
<

Tng EAANG apécouv 3 é

O kaBévag naipvel 6tL dpouTo Tou apéoel. O kabBévag naipvel dtadopetikd €idn dpouTwy. TL Ba mapeL o
BaciAng;

(A) ‘ (B) 3 (r) % (4) é (E) )
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11.

12.

13.

14.

Ada has built a tower of 8 discs, as in the picture. Ada removes the second disc from the bottom of this tower.
Then she removes the third disc from the bottom of the new tower. Then she removes the fourth
disc from the bottom of the new tower. Then she removes the fifth disc from the bottom of the
new tower.
Which tower does Ada end up with?
H Avtpla €xel ptidget évav mupyo e 8 Siokoug, Omwe oty elkova. H Avipla adatpel tov SgUtepo
6loko armo to KATtw HEPOG AUTOU Tou TUPYOU.
21tn ouvéyela, adalpei Tov Tpito ioko amod To KATW PEPOC TOU VEOU TTUPYOU.
2tn ouvéyela, adalpel tov TEtapTto 6ioKo Ao To KATW LEPOC TOU VEOU TIUPYOU. TN CUVEXELQ,
adatpel tov mEUmTo 5ioko amo To KATW KEPOG TOU VEOU TTUPYOU.
Me molov mUpyo KataAnyeL n Avipla;

A

(A) (B) {r) (4) (E)

Peter the penguin goes fishing every day and brings back 9 fish for his 2 kids.
Each day, he gives 5 fish to the first kid he sees and 4 fish to the second kid, which they eat.
Over the last few days, 1 kid has eaten 26 fish. How many fish has the other kid eaten?

O N£tpog o miykouivog mnyalvel yia Papepo kaOe pépa kot pépvel miow 9 PapLa yia ta 2 aldld tou.
KaBe pépa, Sivel 5 Papla oto npwto naldi mou BAEneL kot 4 Papla oto deltepo maldi, Ta omoia Ta TPWVE.
Tic tehevutaiec pépeg, to 1 madi €daye 26 Papra. Nooca Papla €xel paeL to Ao matdi;

(A) 19 (B) 22 (r) 25 (D) 28 (E) 31

7 cards, numbered 1 to 7, are placed in 4 overlapping rings. The sum of the numbers in each ring is 10. Which
number is under the question mark?

7 kapteg, aplBunuéves 1 £wg 7, tomoBetolvtal o€ 4 emikaAuntopevoug daktuliouc. To dBpolopa Twv aplBpwy
o€ KAaBe daktuALo eival 10. Molog aplBude Bploketal kATw amd To cUUPoAO ?;

(A)1 (B) 2 (N4 (8)5 (E)7

Lucas wants to make a caterpillar that has a head, a tail and either 1, 2 or 3 puzzle pieces in between. How
many different caterpillars can Lucas make without flipping pieces?

O AouUkag BéAel va GTLAEEL pLa KAUTILO TTOU £XEL KEPAAL, oupd Kal lte 1, 2 ) 3 koppdtio malh evlldpeoa.
MNdéoeg SLadopeTIKESG KAUTILEG prtopel va dTLageL o AoUKaAC XWPLG va yUPLOEL KOUUATLA,

ST )

—

(A)3 (B)4 (N5 (8) 6 (E)7
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15.

16.

17.

John writes the numbers 1 to 4 on a sheet.

Then he flips the sheet and writes the numbers 5 to 8, as shown.

After that, he cuts the sheet into 4 rectangular cards and puts them in a row:
What is the sum of the numbers represented by the question marks?

O lMavvng ypadel toug aplBpoug amo to 1 £wg to 4 o€ éva GUAAO.

2Tn ouvéxela, yupilel to dUAAO Kal ypadel Toug aplBuolg 5 éwg 8, onwg daivetal.
Metd amo autod, koBeL To UAANO o€ 4 0pBoywVLEG KAPTEG Kal TLG BAlEL OTN CELPA:
Molo elval To aBpolopa Twv aplBwy TToU aVTUTPOoWIEUOUV TO cUUPBOAO ? ;

—n

IBVA 6|7
4 3 Bk

6

(A)3 (B) 4 (N5 (8) 6 (E)7
A floor is covered with 2 kinds of tiIe|:|and B . The rectangles have size 23 cm x 11 cm.
The picture shows a part of the floor. What is the side-length of the square tiles?

‘Eva amedo kaAumtetal pe 2 €idn mAakidiwy |:| kol . Ta opBoywvia éxouv péyedoc 23 cm x 11 cm.
H ewkova Seiyvel Eva pépog Tou Samedou. Molo eival To TAAYLO UHKOG TWV TETPAYWVWVY AAKLSLwV;

(A)3cm (B) 4 cm (N5cm (A) 6 cm (E) 7 cm
A student has 3 cards with numbers on them. Their sum is 782.
Unfortunately, a worm ate part of each card. What is the sum of the 3 missing digits?

‘Evag pabntng €xel 3 KAPTEG e aplBuol ¢ avw Touc. To aBpolopd toug eivat 782.
AvoTtuxwg, Eva okoUANKL Ebaye HEPOG amo KABe kapta. Moto eival To aBpotopa Twv 3 Pndiwv mou Asinouy;

(2 .43 [nLja] (411 ]

(A) 8 (B) 9 (r) 10 (A) 11 (E) 12
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18.

19.

20.

Lucy weighs some blocks. How much do the 3 different blocks weigh together?
H Aouon Tuyilel pepika avtikeipeva. Moco {uyilouv padl ta 3 S1adopeTIKA AVTIKEIEVD;

(A) 270g (B) 280g (r) 290g (A) 300g (E) 310g

There are 60 pupils on a trip. When they line up, the colours of their reflective vests follow the pattern: yellow,
green, yellow, green... The colours of their backpacks follow a different pattern: red, brown, orange, red,
brown, orange...

How many pupils with a yellow reflective vest also have an orange backpack?

Yrniapyouv 60 pabntéc os éva tagidl. Otav mapatdooovTal, TO XPWHOTO TWV AVOKAQOTIKWY YIAEKWY TOUG
akoAouBouv to potifo: Kitplvo, mPAGCLVo, KITPLVO, TPAGCLVO... Ta XpWHATA TWV coKLEIwV Toug akohouBouv
SLapOPETLKO POTIRO: KOKKLVO, KOPE, TTOPTOKAAL, KOKKLVO, KaDE, TTOPTOKAAL...

MNoool pabnteg pe Kitplvo avakAooTIKO YIAEKO €XOUV TiONG £va TTOPTOKAAL 0OKISLO;

(A) 3 (B) 4 ne (0) 8 (E) 10

In the following calculations, the same digits are hidden under the same figures. Different digits are hidden
under different figures.

A-A-BO
@ A-HE

What is the value of Ax . X . ?

YToug 0kdAouBoug UTIOAOYLOHOUC, KATW amo ta idla Yndia kpvBovtal ta (Sta oxpata. Altadopetikd Pndia
KpUPBovTaL KATW oo SLapOoPETIKA oY LaTA.

A-A-BO
@ A-HE

Mota eivat n aio tou A” . x . ;

(A) O (B) 15 (r) 18 (A) 28 (E) 30
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21.

22.

23.

There are exactly 2 frogs in each row and each column.

The frogs decide that 2 of them will jump to a neighbouring empty cell at the same
time. Neighbouring cells have a side in common. % %
After that, there still are exactly 2 frogs in each row and in each column. In how many
ways can the frogs do this?

W
0

Yriapyouv akplpwg 2 Batpayol os KABE aelpd KoL KABs GTAAN.

O Batpayot anodaacifouv o0tL 2 and autols Ba mndnEouv oe €va YELTOVLKO ASELO
KEAL TaUTOXpOVA. TA YELTOVIKA KEALQ £XOUV UL KOLVN TIAEUPA.

Metd amno auto, eEakoAouBouv va umapyouv akpLBwe 2 Batpdxla os KABE oeLpa Kal
o€ KaBe otAn. Me mOooUG TPOTIOUG UITOPOoUV OL BATPOXOL VA TO KAVOUV QUTO;

WG
0

(A)1 (B) 2 (N3 ()4 (E)5

The figure below shows a beehive with 9 cells. There is honey in some cells.
The number in each cell shows how many neighbouring cells contain honey. Neighbouring cells have a side in
common. How many cells contain honey?

210 MopaKATW oxAHa daivetol pla KUPEAN pe 9 KeALA. YIIap)eL LEAL O OpLOPEVA KEALA.
O aplBudg oe kAOe KeAl Selyvel TOCA YEITOVIKA KEALA TIEPLEXOUV HEAL Ta YELTOVIKA KEALG £XOUV HLA KOLVH
TAgUpaA. Mooa KEALA TEPLEXOUV UEAL,

(=
(13 )\ % V)
@000

(A) 4 (B)5 (N6 (8)7 (E) 8

3 girls go to the tray one after the other and take some cookies.

One of the girls takes all the hearts available on the tray. Another girl takes all the white cookies available on
the tray. Another girl takes all the large cookies available on the tray. However, they do not necessarily take the
cookies in this order.

One girl takes 3 cookies, one takes 6 cookies and one takes 7 cookies.

Which of the following sets of cookies does one of these girls take?

3 Kopitola mnyaivouv to éva PeTtd To GAAO 0TO 610K Kal aipvouV HEPLKA UTMLOKOTAL.

‘Eva amno ta kopitola raipvel OAeg Tig kapSLeg mou eival Stabéoiueg oto dioko. Eva Ao kopitol maipvel Ao Ta

Aeuka pmiokota ou gival Stabéoua oto Sioko. Eva GANo Kopitol maipvel OAa ta peydAa UImLoKOTA o elvol
SlaBéotua oto dioko. Qotdoo, dev Mailpvouv amapaitnTa Ta UITLOKOTA LE QUTH TN OELpA.

‘Eva kopitol maipvel 3 UniokoTa, €va maipvel 6 UMLoKOTA Kal éva maipvel 7 Priokota.

Molo amd Ta MAPAKATW CUVOAX UIMLOKOTWYV TalpVEL éva amo autd Ta Kopltola;

[@Q L\ A A A AVAZTE X2 vooo]

OOV @ 900000V (nHoooOOV
tﬂ}' ' v v () COO
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24. There are 2 types of blocks: white A>and red .

A small cube can be made of 4 white blocks or of 1 white and 1 red block. The large cube shown in the picture
is made of small cubes.

What is the smallest number of white blocks needed to ma‘e the large cube?
Ynapxouv 2 Tumot TouBAwv: Aeuko A>K(1L KOKKLVO .
‘Evag Hikpog kUPBoG pmopet va kataokevaotel amd 4 Aeukd toUBAa i and 1 Aeukd kot 1 kdkkvo TouPAo. O

MEYAAOG KUBOG TToU daivetal oTNV ELKOVA EIVOL KATOOKEUAOUEVOC ATIO LKPOUG KUBOUG.
MoLog eival o PLKpOTEPOG 0pLlOUOG Asukwv TOoUBAWV Tou Xpetalovtol yia va ¢TLaEou e Tov Heyaio KUBo;

(A) 8 (B) 11 (ry13 () 14 (E) 23




